Number Track Addition
B Represent and use number bonds within 10

Use the number tracks to find the total for each calculation.
Colour in the correct number of blocks for each calculation to help you.

J+2=

4+ 3

112(3|4|5(6|7(8]|9

Use each number track to count on to find the total for each calculation.
Draw each arrow as you count on and circle each answer you calculate.

S+2s=

2|13(4|5|6(7|8(9]I0

Draw, then count the arrows as you count on to find each missing number.

5+ =8 7+ =9




Represent and use number bonds within 10

Draw, then count the arrows as you count on to find each missing number.

+5=7

Draw the arrows on each number track to show how you counted on to
find the missing number in each calculation.
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How did you do? Why not try out our extension worksheet to keep on practising?
Go to www.learnwithtith.co.uk/year-1-addition




